The Bear Went Over the Mountain
For Low G or High G Ukulele
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Oh,the bear went o-ver the moun - tain. The bear went o-ver the moun - tain. The
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bear went o - ver the mo - un-tain to see  what he could see. To
0 0—o0 0 1 3—— - 3 3—1 0
2 2 0 0
10 C F C C F C
h l A I I I l A I
A — N ! ! ! — N !
o1 — R o — — R —
o &
see what he could see, to see what he could see. Oh the
all that he could see, but all that he could see was the
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bear went o-ver the mo - un-tain to see whathe could see. But
o - therside of the mo - un-tain. That's all that he could see.
0——0—0 o - " —— - ——" _ — _
A\ e v

P

I A



